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AN - I (PART -1I)

[3]

[A]

99 9% 9 fRNS (CHILD DEVELOPMENT & PEDAGOGY)

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

g

|

Th TR & s qe, PeH e
& HISAE WY HA: Soal & qdT g9
I AT BT & ¢

[1] smisses aderT
[2] s oo
[3] i e
[4] oI e

e NG e B N e | I E G
ffr= grgar &) A el & 8
e, Al fawE & A ' w
SeX g9 % U AR geR @
diem @ idfafeEt @ ST HXd 8
[1] Sg-Gddl A

[2] & farerer

[3] Hehrl A

[4] iRl iR

BR & A aee, e
Mhee & e UMY O G B 7

[1] SfieTer SUFH™

[2] 9T SUFH

[3] T Sgii IUH
[4] ANTGLAYCT SURH

Level-3/911

1.

[

|

A type of intelligence test in which
the difficulty level of questions
gradually increases and the time
factor is secondary :

[1] Verbal Test
[2] Power Test
[3] Speed Test

[4] Performance Test

A teaching-learning strategy in
which small groups of students with
different level of ability use a variety
of learning activities to improve their
understanding of a subject :

[1] Multi-sensory learning

[2] Team teaching

[3] Co-operative learning

[4] Programmed learning

classification of
to which

approach of personality assessment ?

Spranger's

personality is related

[1] Trait Approach

[2] Type Approach

[3] Instinct Approach

[4] Psychoanalytic Approach

P.T.O.



[A]

4. F=fifad & @ @9-a fealE &

|

|®

IR NS WA B T 787 8 7

[1] I g § &
[2] SflesT § He
[3] SO ereedt T |l & &

[4] Sraifee Rt |/ g

‘S T AR IR AT 9 sk
fEm & oremd & B, O 98 1O
Y YN Bl WIE T Ybe &Y ol &I’
7€ fH TH &l TSR I & Th
ST & 7

[1] &\

[2] "=

[3] g&qer

[4] feremT=

e & e Gem R @
APER, ‘GEHHh G H B
A 3h1s, SN Rl G AR
3 fraraas § Aeg G ), Feaml
?

[1] Tes1 gfrt

[2] 7 sigfee

[3] BT

[4] GT&or

Level-3/911

[4]

4.

g

|®

Which of the following is not a
symptom of good mental health of

students ?
[1] Living in fantasy world
[2] Balance in life

[3] Knowledge of our potentials and

limitations

[4] Free from undesirable worries

'When an adolescent is unable to
show anger to his parents, then he
shows his anger to his younger
brother.' This is an example of which

type of defence mechanism ?
[1] Repression

[2] Regression

[3] Projection

[4] Displacement

According to Piaget's Cognitive
Development Theory, 'The basic unit
of the cognitive structure that helps
in the implementation of cognitive

behaviour', is termed as :
[1] Reflexes

[2] Basic Instincts

[3] Schema

[4] Conservation



|

|«©

‘YR gfE B AR &5 § " &
Y T H WA b w9 H
oftaie feam S &bl & — daw &l
3@, 30 R H Thigd &, 3
FEN AR 39 e Hl”

Haeds g5 &l 98 IR fhee &

‘TH A B T & TF A ST Fbar
g, fog IW & @ arer & R S
TEa’ I8 U9 deR® & dEd @
fpe foom @t T Sehe X © 7
[1] TR &0 ~EH

[2] S| &1 f+EH

[3] g9 &1 |

[4] sEdfcishar & fEm
frfafag & & PF-a1 {Eor # ®R
TETE 7

[1] STERET &

[2] iq &)

[3] STt &Y

[4] Ride &R

Level-3/911

1.

|

|©

[A]

"Emotional Intelligence may be
defined as the capacity to reason with
emotion in four areas — to perceive
emotion, to integrate it in thought, to
understand it and to manage it."

Who this

emotional intelligence ?

gave definition  of

[1] Daniel Goleman

[2] Mayer and Peter Salovey

[3] Peter and Michael

[4] Halverson

Which one of the following is not a
direct method for measurement of
attitude ?

[1] Interview

[2] Projection

[3] Questionnaire

[4] Observation

'A horse can be brought near water,
but cannot be forced to drink.' This

the truth of
Thorndike's which law of learning ?

[1] Law of Readiness

[2] Law of Exercise

[3] Law of Effect

[4] Law of Multi Responses

statement reveals

Which of the following is not a level
of teaching ?

[1] Basic Level

[2] Memory Level

[3] Understanding Level
[4] Reflective Level



[A]

11.

fFeffag & 9 &F-a1 SIS 3
qiRfefoe a5 Risia & 9FT 788 ?

[1] wgshl e
[2] B Rreed
[3] AR feew
[4] 74 Rreed
W @ waft @ e ¥ B
T e 7al o !

T FSREI
[1] Y S REIN]
[2] @R ~- U
[3] sme=d S SR
[4] \T - A

(RO WS 11 S e T M |
HI-H TR Faiieen IUgH 8 ¢

[1] |EEIET ) =

[2] G qedl W Hee SieEi
[3] |es TiiaieEl ® e

[4] @fSTh Heei T gre

ARl & AEEh TEghd e &

AR, ‘AN H AR [
U I aTHal & ?

[1] SiekRTTT
[2] QST
[3] Mfs®

[4] HTHE

Level-3/911

[6]

11.

Which one of the following is not a
part of Bronfenbrenner's Ecological

System theory ?

[1] Micro system
[2] Macro system
[3] Minor system
[4] Meso system

Which pair is not correct with reference

to emotions and basic instincts ?

Emotion Basic Instinct
[1] Anger — Repulsion
[2] Ownership — Collection
[3] Wonder —  Curiosity
[4] Fear — Escape

Which way is the most appropriate

for social development of

adolescents ?

[1] Discussion on socialization

[2] Essay competition on social values
[3] Organizing group activities

[4] Documentary on social relations

Need

Hierarchical theory, 'Esteem Needs'

According to  Maslow's

are which type of need ?
[1] Personal

[2] Social

[3] Intellectual

[4] Emotional



15. FHefad § § -1 & 9

Ngal B YORTHEAT qOEeT § gefad
7 T 7
[1] STETEReT ITANT deidl

[2] gHI & A O GEd § Had
Eoei

[3] I9E YR G FE

[4] T8I T STAM el de Hri

frefofeg & @ ®F-T1 Fu99 Jgas
fafrTarel & ded & 9 7& e ?

[1] &g 4t & &k Qo 9\ T2l
B Hebdll

[2] i fafrTan STer-oTer &=t
q G & Tt g

[3] Jafe faftrae faem & ol
ST &l gifad HYr 2

[4] TR RO daa
HFARIBAT & HROT A Bl |

il FEFAT & AT A &
5% B %o I © 7

[1] Sffqare
2] gead

[3] AT
[4] STl

Level-3/911

[Z]

15.

[A]

Which of the following task is not
related to Bager Mehdi's test of
Creativity ?

[1] Unusual uses related task

[2] New relation between pairs
related task

[3] Product
task

improvement related

[4] Ask and guess related task

Which of the following statement is

not correct with reference to

individual differences ?

[1]

No two persons can be exactly

alike.

[2] Individual differences  may
belong to different areas.

[3] Individual differences affects
different dimensions of
development.

[4] Individual differences arises

only due to heredity.

17. Who 1is called the father of Trait

Theory for study of personality ?
[1] Allport

[2] Woodworth

[3] McDougall

[4] Eysenck



[A] [8]

18. TUNI BT H FEIRET ﬂ"fﬁ 79 18. Which of the following pairs of
HIF-H1 G A< H &G Gol § ¢ communication skills is correct for
receiving the information ?
[1] g AR fore [1] Listening and Writing
[2] ST AR Ul [2] Speaking and Reading
[3] G AR T [3] Listening and Reading
[4] ST AR e [4] Speaking and Writing
19. B fEa & AR, frfeti | 19. According to Triarchic Theory,
q HHF-4 ﬂ@ T TH YBR 78 & 7 which of the following is not a type
of intelligence ?
[1] fassoneTs [1] Analytical
[2] GSTHTHS [2] Creative
[3] Tsifan [3] Theoretical
[4] =RIRS [4] Practical
20. HEws & SR, T e &R 20. According to Kohlberg's theory,
F A B, S Afcwar J H—Eﬁiﬁ what level of morality is it, when
Aferep ferai |l & oI € 7 morality  includes  self-accepted
moral principles ?
[1] cﬁ‘"@%‘ﬁ [1] Pre-conventional
[2] ®feTd [2] Conventional
[3] STR-BiGTT [3] Post-conventional
[4] ¥7H 4 318 T [4] None of these
21. fFrfofed & @ SF-H fesiEen &t 21. Which of the following is not a general
U dHN g e 7&f g7 characteristic of adolescence period ?
[1] T& SR Pl Tae 2| [1] Itis a transitional period.
[2] T8 STARAahAretl @l STae Bl [2] Itis period of unrealism.
[3] 98 Jea™ H QN B a5 2l [3] Itis time for search of identity.
[4] 98 ATRA H T&AT 2 [4] It is the threshold of puberty.

Level-3/911



22.

Al ABAT B TR ey
weer fees & faeta e
™7

[1] N & 9F =

[2] S

3] emgelss

[4] e wd ded

23. 99 % MiEd @ ¥ yfaseae &

& 8 AR ® JHEAH SeH
for Smar 2, @ T8 fRE v @
g STEEA © 7

[1] fHig= st
PARECRERINRERRIG

[3] FiYEa ofav

[4] uRgcwelid Sfaaa

et &+ faem  Rsagar,
ERIRCES

[1] Sfces arafasmar @ orawen
[2] 391G @l Afewar i rEen
[3] T Wb @i STae
[4] @R A # T

25. MHeRad § @ SF-91 dE ST

P THREH & G THIGT Bl & 7
[1] FEN fawresyg
[2] GRYEAT i A
[3] SARRET & HH

[4] GerTeTs Hiagfe

Level-3/911

[91]

22.

25.

[A]

Who the
Apperception Test for personality

developed Thematic

assessment ?

[1] Murray and Morgan
[2] Bellack

[3] Eysenck

[4] Allport and Cattell

What type of reinforcement schedule is
it, when reinforcement is provided to
the learner only after a certain number
of responses ?

[1] Fixed ratio

[2] Variable ratio
[3] Fixed interval
[4] Variable interval

According to the moral development
theory of Piaget, adolescence period
1S :

[1] Stage of moral realism

[2] Stage of morality constraint

[3] Stage of heteronomous morality
[4] Stage of autonomous morality

Which of the following factors
positively affects learning ?

[1] Meaningless content
[2] Lack of maturation
[3] Lack of motivation

[4] Informational feedback



[A]

26. R U@ U BF TEU I GEE

FAT 51 T8 T SaRT ©
[1] oTiaRe SIREReT %
[2] aRT SAREROT &

[3] STHSTI SARERET &
[4] 39 q %13 T

2. Uh 15 a9 & dh Hl gfE el

Brfl, STafh Ie AR oy 128 7

[1] 80 [2] 90
[3] 100 [4] 110

% e & s § oy ot @

LRI I B GO B S B |
Frefofad § & @iF-a1 w6 787 w41 7

[1] Aferpar B M
[2] 9T & G B

[3] ufcferar &I wdra
[4] FTErl RidT 1 aiEr

29. @ W ‘&= @ R # T &l &,

FE ©

[1] s iea

[2] SifraAfsed

[3] &

[4] g

T @ 9 5 TR @ AR © 7

[2] et
[4] @mISTS

[1] s=a
[3] STk

[10]

27. What

Rohit helps others to get praise. This

is an example of :

[1] Intrinsic Motivation
[2] Extrinsic Motivation
[3] Innate Motivation
[4] None of these

be the
quotient of a 15 year old boy, when

will intelligence

his mental age is 12 ?

[1] 80 2] 90

[3] 100 [4] 110

As a teacher which of the following

work would not be done by you to
develop the creativity of the students ?

[1] Encouragement of originality

[2] Removal of fear

[3] Freedom to respond

[4] Avoidance of divergent thinking
Development which proceeds from
'centre to the periphery', is known as :
[1] Cephalic Caudal

[2] Proximodistal

[3] Spiral

[4] Circular

30. Hunger and Thirst is which type of

motive ?
[1] Extrinsic [2] Acquired

[3] Intrinsic [4] Social

Level-3/911



[11]

[A]

[T - II (PART - II)
A1 (B ©d 37SH) [LANGUAGES (HINDI & ENGLISH)]
f&=<t (HINDI)

3 : R 797 % o7 &7 & [ qag ST 4wy g

31. WEEEl @ 3 ¥ orgrg e

gﬁﬂ'{ :
[1] T - TS, deTEe,
e
2] ™ - dq4, HEM, FH
[3] TR - Heldeatl, IR,
agren
[4] &Il - MR, IR, MU

32. 9 feq § foame 999 ™ &1 5T

g 7

[1] &5 U M &d S =1ie
[2] A dfT gERY, St @ QR

[3] &9 8 &1 FB TEI e bl
[4] ST I, T & AR

33. ‘UMl gU-9 Il B dEd |

fohe U & FRE-fasiver @1 JERT gam
g 7

[1] IaTe
[2] dfqars
[3] GRRHEES

[4] TS

Level-3/911

34.

qugd s =l & oo e &
3ftc § 7 9F R ¢

[1] €8 - 38 dfed; T8 - d4e
(2] g - T; AT - A
(3] G - Feb; Gl - goaarg
[4] @S - &g; Sao1 -

5. S [ @d d@ R @ A

TR ‘AT I diE-6 6§ &
JETEI B 7

[1] HYeEares qs1

[2] STicErEes de

[3] WEaE® HEl

[4] HieTarereh Hel

36. FTH { BHI-G1 A FYH & ?

[1] TR FEER qE9 3
2] & & & A= geaand ¥

[3] 98 Ufa & ST IAR @ 2
[4] S & ST G W T B

37. 9 9= ¥ % ¥ oY SUTN @

ST BT B 7
[1] STy [2] v
[3] STgeH [4] =ty



[A]

38. U &l gie § oG faehed T ¢

[1] FFhadT -  HHEARA
[2] AfTEmE - ey
3] 9/mr - &

[4] e - T

39. [ foshcy d foerl @ &1 sEnT gan

T 7

[1] grifteY
2] Tags
[3] TR
[4] fFegX

40. =R A UILHH B ghe § ‘o@T

I TH 9 9 9= & s oM ?
[1] 9

[2] 9

[3] <X

[4] =ffeb

41. oI 1 gt 9 oG faehed YT

[1] S - A

2] 9@ - StHE

[3] & - g

[4] @1 - TSET

[12]

42. =H § &9 9= ¥ ‘omET g9 @

SR e g § 7
[1] Riee
[3] gFmEE

[2] @STEe
[4] qUaC

43. TR & e F @ o0 B ISR

T B
[1] TS
2] gei

[3] a1
[4] &<

44. Y 9= § M @A B

[1] st
[2] ggafe
[3] ugEn
[4] 9T
45. ‘TEH-TEHT H T W FFGIT [
g :
[1] dmem - - dEel
2] &9 - Tl
[3] oo - TR
[4] 76 - "

Level-3/911



[13] [A]
3Rl (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
46. Which of the following options 49. The word 'garrulous’ means :
express the correct meaning of the [1] talkative [2] abusive
sentence given below ? [3] violent [4] abundant
He is too cute to overlook. 50. Arrange the following jumbled
[1] He is too cute and he can be options in the correct order and then
overlooked. choose the correct option :
[2] He is too cute but he can be (1) too many (i1) spoil
overlooked. (ii1) the broth (iv) cooks
[3] He is so cute that he cannot be [1] (1), (iv), (ii1), (i1)
OverIOOked' [2] (1)’ (IV)9 (11)’ (111)
[4] Although he is not cute, but he [3] (iii), (iv), (ii), (i)
cannot be overlooked. [4] (iv), (i), (1), (iii)
41. Change the narration : o )
Kavin said to Mr. Cowper, "Please, 51. F111. in the blank with the correct
be kind to me." option :
[1] Kavin requested Mr. Cowper to Let us stay here, while it ........... :
be kind to him. o
[2] Kavin requested Mr. Cowper to [1] is raining
be kind to me. [2] was raining
[3] Kavin asked Mr. Cowper to be o
please kind to me. [3] has been raining
[4] Kavin ask.ed Mr. .Cowper that he [4] had been raining
must be kind to him.
48. Fill in the blank with the correct 52. Choose the part of the sentence that

form of verb :

You had better
hands before you eat.

[1] been washing
[2] washing

[3] washed

[4] wash

Level-3/911

is grammatically incorrect :

The thief took towards/his heels/on
seeing/the Police-van arrive.

[1] The thief took towards

[2] his heels

[3] on seeing

[4] the Police-van arrive.



[A]

53.

Choose the part of the sentence that
is grammatically incorrect :

He has committed / a blunder /
mistake / today morning.

[1] He has committed

[2] a blunder

[3] mistake

[4] today morning.

54. Fill in the blank with the correct

form of verb :

Neither you nor she ............. made
the mistake.
[1] have [2] has
[3] had [4] did

55. Fill in the blank with correct 'Modal
Auxiliary' :
Passengers ............ not walk
across the railway line.

(Prohibition)

[1] should [2] can
[3] need [4] must

56. Choose the correct passive of the

given sentence :
Did he kill a lion ?

[1] Did a lion killed by him ?
[2] Was a lion killed by you ?
[3] Was a lion killed by him ?
[4] Had a lion been killed by you ?

[14]

57. Fill in the blank with the correct

option :

Mr. Sudhir Soni is ........... R.A.S
Officer.

[1] an [2] a

[3] the [4] x

58. Fill in the blank with the correct

option that completes the idiom :
A rolling stone .......... .

[1] carries rough winds

[2] kills no one

[3] gathers no sauce

[4] gathers no moss

59. Fill in the blank with the correct

option :

When Monisha reached the bus
stand, the bus ........... .

[1] was already left

[2] had already left

[3] already left

[4] has been already left

Which of the following sentences is
the correct option to express present
perfect continuous tense ?

[1] Mr. Mehta has been waking for

2 O'clock in the morning.

Mr.
since 2 O'clock in the morning.

[2] Mehta has been waking

[3] Mr. Mehta has been waked since

2 O'clock in the morning.

Mr.
from 2 O'clock in the morning.

[4] Mehta has been waking

Level-3/911
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[A]

- III (PART - III)
A 1999 (GENERAL STUDIES)
TR AT, i SIMEHAT o 9T &9 U9 STEIM (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3T : e 797 % o7 &7 & [ qag ST [awey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

g & g9 X JA1 Y B -

TR W TE Ys 21 A Y H WeRr
X3 M@, @Y & Ye
g Remd & ?

[1] ST
[2] &RroT

3] @@
[4] Ui=™

62. @ , PR R 30 @ o B

feam & 3 €2 H, wafh amwEl 4.5 €2
T FA B AR AW @ oA 3 R
gl der B, @ VG 9@ ¥ G @l
e B -

[1] 10 febHt et ger
[2] 12 Tt ufey et
[3] 13 febHl uifer ger
[4] 15 TebHt uifer ger

10.5 841 Bear & Th Gig Hqen
fogares, 3.5 @4 Brewr qanr 3 &
e A B2 B gige § e R
ST &1 TegER, 39 JHR 99 o B
ge far el ?
[1] 112

[3] 132

2] 126
[4] 138

Level-3/911

61.

X and Y are facing each other at
sunrise. The shadow of Y is falling
towards right of X, then Y is facing
in which direction ?

[1] North
[2] South
[3] East
[4] West

A Dboat covers a certain distance

downstream in 3 hours, while it
comes back in 4.5 hours. If the speed
of the stream be 3 kmph, then the
speed of the boat in still water is :

[1] 10 kmph
[2] 12 kmph
[3] 13 kmph
[4] 15 kmph

63. A metallic sphere of radius 10.5 cm

is melted and then recast into small
cones each of radius 3.5 cm and
height 3 cm, then the number of
cones thus formed is :

[1] 112 [2] 126
[3] 132 [4] 138



[A]

64. IR FHIF gRT Ak =hgles =T &

AER W 3 a9 FH wHIH AN
Few 32 TN A M, A A A
i & ©

2
171 16=%
L1} 162

1
[2] 335%
[3] 33%
[4] 50%

1865 @RI ® ¥, 660 STISH A T
g A 1305 fft 99 & ©, W
120 & - & & B o 9w &
ST a8, O e AT QT AT
I T & 7

[1] 220
[2] 440
[3] 120
[4] 1085

66. TEA B HEd F 20% B FH & TN

W &F AEH 800 &9 § 12.5 TR
AT gE @48 odl 3, df =@Ed &
g B S e feeel B

[1] 12 59
[2] 14 59
[3] 1589
[4] 16 B9

Level-3/911
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64.

If the amount is 3% times the sum

after 3 years at compound interest
compounded annually, then the rate
of interest per annum 1is :

1] 16%%

1
2] 33-%
(2] 333

[3] 33%

[4] 50%

65. Out of 1865 people, 660 can speak

English and 1305 can speak Hindi,
but 120 persons cannot speak either
language, then how many persons

can speak both languages ?
[1] 220
[2] 440
[3] 120
[4] 1085

A reduction of 20% in the price of rice
enables a customer to purchase 12.5 kg
more for Rs. 800. The original price of

rice per kg is :
[1] Rs. 12
[2] Rs. 14
[3] Rs. 15

[4] Rs. 16



61.

e & TH Anwd § e,
AR B 12 A JAT AEA H S
T Bl AR SEH AVGA 36 &, A 9
g

[1] 2726
[3] 2796

[2] 2736
[4] 2826

kB e ORS L e  | [< L

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. fhdl d@m @ 5, 9, 13 4 fowla

FT G A 2, 6 qAT 10 AT FAA
T UE 999 Bid e ®

[1] 602 [2] 592

[3] 572 [4] 582

uh FREd f 9 § "PARTICLE"
& "USBQFMDJ" @1 "GENERATE"
% "FOFHFUBS" forar Sirm &, o g4
M H2 9 H, "DOCUMENT" &
foran s -

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF

Level-3/911
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[A]

In a division sum, the divisor is 12

times the quotient and 5 times the
remainder. If the remainder is 36,

then the dividend is :
[1] 2726 [2] 2736
[3] 2796 [4] 2826

Find the next term of the following

series :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. A number when divided by 5, 9, 13

2, 6 and 10

respectively. The least such number is :

leaves remainder

[1] 602 [2] 592
[3] 572 [4] 582
In a certain code language

"PARTICLE" 1S written  as
"USBQFMDJ" and "GENERATE"
18 written as "FOFHFUBS", then in
same code language "DOCUMENT"

will be written as :
[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF



[A]

11.

12. 7}

@ T P, Q @M R &1 U 0% 5 He
¥ W &1 9@ R, Q & g M @
T Q, P ¥ I M & @ 8, A
A T P BN % B A H A
g T ?

[1] 226 [2] 25 €@

[3] 30€¢e [4] 3542
ngj aql y:%, @

(> +y?) &1 A9 2

[1] 14 [2] 12

[3] 13 [4] 16

aefeat @t e uRe H, A St R A
103 T WX q B & X ¥ 149
N W g, A% J oo Rufedr wweR
Se odl 8, a1 A 9@t ok q 243
WM W & e 2, ute § asfeat @i
Her fpat ' °
[1] 31

[3] 37

[2] 33
[4] 39

74. Th GHMER TF & B 15% 9 |

ST B, SR 3I09 I 18 FUY AR
4 91 B, @ I§H W 18% &
Sl 39 a&] 1 %9 9 (B0 H) ® ¢
[1] 360
[2] 540
[3] 600
[4] 640

Level-3/911
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11.

La. If x

A tank is filled in 5 hours by three
pipes P, Q and R. The pipe R is
twice as fast as Q and Q is twice as
fast as P. How much time will pipe P

alone take to fill the tank ?

[1] 22 hrs [2] 25 hrs

[3] 30 hrs [4] 35 hrs
V3+1 J3-1

=———and y=————, then the

J3-1 Y \/§+1

value of (x> +y?) is :

[1] 14 [2] 12

[3] 13 [4] 16

In a row of girls, A is 10th from the
left and B is 14th from the right. If
they interchange their positions, A
becomes 24th from the left. How

many girls are there in a row ?

[1] 31
[3] 37

[2] 33
[4] 39

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more,
he would have gained 18%. The cost
price (in Rs.) of the article is :

[1] 360

[2] 540

[3] 600

[4] 640



15.

Th HE P SEE@ 9000 B, AT gEui
P THEE e W 5% AR wiewnst
H e W 8% & T TH a¥ H
SHEA 9600 B, o geSl &l e
g

[1] 3000
[2] 4000
[3] 5000
[4] 5600

D,CTNE @ @1 &, A, E § a1
T e R, C, Ad @, D, B A
ARE TN TG B, A TH W DA
qI9 T 8 7

[1] A
2] B
3] C

[4] D

11. TF TSH & BEA® H AKX G

XA BT X ¥ &el fh ‘a8 A e S
% B G H dsH o7, W ASH!
X ¥ g yer d@dg B ?

[1]
[2] 91§
[3] S8

[4] =T

Level-3/911
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15.

11.

[A]

The population of a town i1s 9000. If

the males increase by 5% and

females by 8%, the population would
be 9600 in a year. The number of

males is :
[1] 3000
[2] 4000
[3] 5000
[4] 5600

D is taller than C and E. A is not as
tall as E. C is taller than A. D is not as
tall as B. Who is the tallest among

them ?
[1] A
[2] B
[3]1 C
[4] D

Pointing to a girl in photograph, X
said "She is the daughter of my
grandfather's only son". How is the

girl related to X ?
[1] Father

[2] Brother

[3] Sister

[4] Mother



[A]

18. U A §5 Al (oRMel gd & ufRem

P SR S W & T IAX A IRT B
IR & T @, Ao IubT ol fha
fesm & S@ ?

[1] So-To

2] So-Yo

3] To-Yo

[4] To-To

=1 e Aoft 1 o UE R

3,13,22,32,59, 69, 120, 130, ?

[1] 201

[2] 211

[3] 227

[4] 232

9 s TS H AT 1 %, g ITH

A ST @Sl d P HT R
ST, @ S Ed e 8 SR ?

[1] @& §H= B/
[2] 1% gig &Rl
[3] 1.5 @ gfs Bt
[4] 2 @I g Brl

Level-3/911
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78. A steam engine train runs from east to

west and wind is blowing from north to
south, then the smoke from the train

would blow in which direction ?
[1] N-W

[2] N-E

[3] S-E

[4] S-W

79. The next term of the following

number series is :

3,13,22,32,59, 69, 120, 130, ?
[1] 201
[2] 211
[3] 227

[4] 232

The average of nine consecutive

numbers i1s n. If the next two

numbers are also included, the new

average is :

[1] remain the same
[2] increase by 1
[3] increase by 1.5

[4] increase by 2



8l1.

BRATT & T W ® AR

TR 9 & ded TIaX W & &9

T arfergfer fear T E ?

[1] YR TSE & X fHeEm
FeIg ARG

2] TR TEE I AR g™
Felg ARG

[3] TEX g9oild TR &R &R
RIRCTE geila A9IRTg

[4] SgMEX  FEE  AWARYG AR

G- g=aoild TRy

82. ifhd FeMi W fa=aR R :

() eRAmm § wgE Hen o @l
AT a9 2002 § & T8 oy

(i) =Y Ww U eRAen U &
EENERIEIRES D

[1] %7 (i) T B
[2] ®ad (i) & B
[3] () @ (ii) 3 @& 2
[4] (1) TG (i) T T 2

83. BRAM & fFE X B TS o6 ax

BT % ®q § ST AT B 7
[1] ToIH [2] AT
[3] daa [4] F@T

Level-3/911
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8l.

[A]

Which places of Haryana have been

notified as Ramsar site under

Ramsar convention of UNESCO ?

[1] Park &

Bhindawas Wildlife Sanctuary

Sultanpur  National

Park &
Khaparwas Wildlife Sanctuary

Kalesar  National

(2]
[3] Nahar Wildlife Sanctuary & Bir
Shikargarh Wildlife Sanctuary

[4] Abushahar Wildlife Sanctuary &

Khol-Hi-Raitan Wildlife Sanctuary

82. Consider the following statements :

(1) The institution of Lokayukta was
established in Haryana in the
year 2002.

(i1) Justice Pritam Pal was the first

Lokayukta in the State of

Haryana.
[1] Only (i) is correct.
[2] Only (ii) is correct.
[3] Both (i) and (ii) are correct.

[4] Both (i) and (ii) are incorrect.

83. Which of the city of Haryana is

known as the 'City of War Heroes' ?
[1] Gurugram [2] Sonipat
[3] Panipat [4] Bhiwani

P.T.O.



[A]

84. M ¥ FHMEGd ©Rel H 9

86.

fre g @i ®Re @ g urd
g7

(i) G TG F TR
(ii) S AR dras

(iii) HrRar AT Bt
@& HE F T HIT
[1] (i) &R (i)

[2] (ii) S (i)

[3] () A (iii)

[4] (i), (i) & (i)

85. AT % oMM &R F ST

glaegrett &1 fae w9 & fog e |
q B-d der FeRR B 7

[1] BRgH

[2] &1

[3] CHUHARAESE!
[4] Rt S &=

Frefefed & @ a9 eRaem &
T % &R gE 78 & 8 ?

[1] REmm &% gegus
[2] GoT9 TG ERIAOT I <AEFed &l
T

[3] eRAOT @ FAT SN @
e

[4] eRATM AFAEER SRR H 95
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84. Which of the following monuments

of Haryana have the status of State
protected monuments ?

(i) Sheikh Tayyab's Tomb

(i1)) Shobha Sagar Pond

(i11) Bhimadevi Temple Complex
Choose the correct code :

[1] (1) and (ii)

[2] (ii) and (iii)

[3] (1) and (iii)

[4] (1), (ii) and (iii)

85. Which of the following institute is

86.

responsible for the development of
infrastructure facilities in industrial
areas of Haryana ?

[1] HARTRON

[2] HUDA

[3] HSIIDC

[4] District Industries Centre

Who among the following is not

appointed by the Governor of

Haryana ?
[1] Chief Minister of Haryana

[2] A Judge of Punjab and Haryana
High Court

[3] A member of Haryana Public
Service Commission

[4] A member of Haryana Human
Rights Commission



81.

BT F MEfargg eu d 9
I T AABIE o7 ?

[1] g GoT i
[2] STogE ol BTl
[3] &fveh AT Hed
[4] 919 AN

IR 9899 99 AT % AR A

frfafaa el @ afeT ¢

(i) T8 AT IRER B & HE @
w0 4 RBfeTd &l B R T
BRATT & GHE URERl B Th
fasaeg  de-oni®  Sered
TR K @ 2

(i) 9% URAR H TH S bl Hl
fodeeT URaR UeAM  ofEfved i
S W ? R weEm (ID) &
S, g U4 qaied Relgd d
ST S

(iii) AR TeaM Se@d ¥ Su@e ST
ST AT B AT st
4 @ 99 8] B Sem @ik
ROt & @F deett & [

ST A Dl STAIHA -T&) arlll
g&l %< Bl FAAT HifoT :
[1] %t (i) @& B
[2] () 3R (i) @& &
[3] (i) &N (iii) & T
[4] (i), (i) &N (i) &
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81.

[A]
Who among the following Governors
of Haryana was a civil servant ?
[1] Muzaffar Hussain Burney
[2] Jaisukh Lal Hathi
[3] Dhanik Lal Mandal

[4] Babu Parmanand

88. Read the following statements about

'Parivar Pehchan Patra Yojna' :

(1) This scheme identifies family as
a unit and is creating a reliable
socio-economic database of all

the families in Haryana.

(i1) An eight digit unique family ID is
being issued for every family and
the ID will be linked to birth,

death and marriage records.

(i11)) The data available in family ID
database will be utilized to
determine automatic verification
for various welfare schemes and
families will not be required to

apply themselves for benefits.
Choose the correct code :
[1] Only (ii) is correct.
[2] (1) and (i1) are correct.
[3] (i1) and (ii1) are correct.

[4] (1), (i1) and (iii) are correct.

P.T.O.



[A]

89. BN & TUE & ey H

frrfafad wemi WX faR iR

() @& sfEen d=E fasatEe @
e 2

(ii) 98 T & foell ot 9 & 9 B
qRYT P T 2|

(i) d& 3PEqq T® ®E AEREd,
BTN T A B AT B

(iv)32 Giea & S B
wiaaag afd < &t

S | | DE-AUA I 78] ofs ?

[1] (), (i), (iii) S (iv)

[2] (ii), (iii) 3% (iv)

[3] ®ad (iii)

[4] (ii) & (iii) I

gRaen § @ | ok TS | @
e 2

[1] 7 3R 4

[2] 10 3R 4

[3] 108iR 5

[4] 128% 5

[24]

89.

Consider the following statements

regarding the Governor of Haryana :

(1) He is the Chancellor of Central
University of Haryana.

(1i1)) He can hold any office of the
profit in the State.

(i11) He is the President of Indian Red

Cross Society, Haryana State

Branch.
(iv)He does not have any
discretionary  power  granted

under the Constitution.
Which of the above statement(s)
is/are correct ?
[1] (D), (ii), (iii) and (iv)
[2] (ii), (iii) and (iv)
[3] Only (iii)
[4] Both (ii) and (iii)

90. The Lok Sabha and Rajya Sabha

seats in Haryana are :
[1] 7 and 4

[2] 10 and 4

[3] 10and 5

[4] 12 and 5

Level-3/911
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[A]

R - IV (PART - IV)
g {95 (BIOLOGY)
3T : R g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

Frer & @ sF-a1 SIS A B
I (SdeE) 787 B ?

[1] CGC

[2] AGA

[3] CGG

[4] AGU

Fret 4 @ aF-dl o X-foiw st
S B 7

[1] Ematiean

[2] SRS Sded

3] TEiRbe

4] BRI

93. frgell & IFdN & %A B & fQ

fr=r § 9 9-a1 Saert ® ?

[1] =rar &t gt (319 o)
[2] Sfeiay

[3] Hw A

[4] ~PTCTEER

Level-3/911

9l1.

Which of the following codon do not

specify arginine ?
[1] CGC
[2] AGA
[3] CGG

[4] AGU

92. Which one of the following is a

93. Which

X-linked recessive disease ?
[1] Haemophilia

[2] Diabetes insipidus

[3] Pseudorickets

[4] Hypertrichosis

of the following is

responsible for failure of vaccine in

infants ?

[1] Maternal antibodies
[2] Endotoxins

[3] Serum protease

[4] Glucocorticoids



[A]

94. Ut & IR ¥ = F ¥ 991 T
g7

[1]2@3(6@)@3@%@?\1
|

[2] 39 A&l SURed Bl 2
[3] TR o1eR a0 & @as 8l 2

[4] @4 ageivad 0 & o
SEEUNIS RIS

95. SRARS & fF9 IR & = F

97.

e B 7

[1] ST [2] Ao
[3] IR [4] TgE

FSH (wifeeger N
JehIgaIdd SHM) IEEES &9 H ©
[1] gehiiiiye

[2] TR

[3] IR

[4] Refaie

T (SfeTe) de @

[1] RTAT H U U8

AP H Th @, [k
HATeATHRT bl kel &

s
SiF

[2] SITAT & G B AT SRTY
NIINEEC

[3] iR & @RS B T Hier
YeRId & drell HIRAH H ST

[4] % Gadq § qHET aRTe
G T TS|
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95. Armadillo

96. Chemically

Which of the following is incorrect
for snakes ?

[1] Bones of palate are movable.

[2] Pectoral girdle is present.
[3] Ribs are free ventrally.

[4] Snakes are sensitive to air borne
vibration.

contributed to the

development of vaccine for :
[1] Tuberculosis [2] Leprosy
[3] Corona [4] AIDS

FSH
stimulating hormone) is :

[1] Glycolipids
[2] Glycoprotein

(follicular

[3] Phosphoglucoprotein
[4] Sphingolipid

91. Antisense technology is :

[1] When a piece of RNA that is
complementary in sequence 1is
used to stop expression of a
specific gene

[2] RNA polymerase that produce

DNA

[3] A cell displaying a foreign
antigen used for synthesis of

antigens

Presence of somatoclonal

[4]

variants in tissue culture



98. 9 § @ FH-G1 FE AEAD(Sd

SITT @] HEbE ST & g<H |
TATR 7

[1] T G-C content (\‘rﬁ o @
W) ST Bl ol

[2] ¥ AU IAET T God § AT
B Bl

[3] ¥ &R % UHK & ST 2Bid &

[4] T TS TIEE J ST B R

99. 9 ¥ ¥ -w ufadt =Iw @

Tagat & g P B 7

[1] Arest —» Re dtE o
AR — Hadl AR — 7609

[2] wiEUet — dadt A — A6ty
— W& R — AREE

[3] SPEME — Hadl dEeE —

TETo9] — X Il — Hieush

[4] SREE — Wh TR — T
—> Gadr dfEer — arEash

Level-3/911
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[A]

98. Which of the following statement is

wrong about mitochondrial DNA
and nuclear DNA ?

[1] They differ in G-C content.

[2] They differ in their buoyant
density value.

[3] They differ in type of bases.

[4] They differ in melting temperature.

99. Which of the following is correct

sequence of the components in a

reflex arc ?

[1] Muscles — Motor neuron —
receptor — Sensory neuron —

Spinal cord

[2] Muscles — Sensory neuron —
Spinal cord — Motor neuron —

Receptors

[3] Receptors — Sensory neurons
— Spinal cord — Motor neuron

— Muscles

[4] Receptor — Motor neuron —
Spinal cord — Sensory neuron

— Muscles



[A]

100. HYH IJJHIGh bl 3GHT B3T AT ¢

[
ol

bt
N

[1] SRS & §
[2] feQifee &t d
3] Rregia &

[4] FrEitTbE |

i & = § 4 ae-d@ s
Il & YaTe H SEIT &t 8 7

[1] GrEEe

[2] 9IRS

3] srEEe

[4] SiTEES

Fr=T @eel @l dfeq Ty @El faeed
gﬁﬂ'\f:

A. 99 TRGT # TRR & RS
drer B 2

B. U Uiy # =X & e
Icel BT Bl

C. g qRdy & Sg-9) &1 e
3T BT Bl

D. & qiad § Ja-9R) H fURie
3T BT Bl

7e e
[1] A T D

2] A, B @ C
[3] B, C @q D
[4] A, B @Y D
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100. The first tetrapods originated in :

[1] Ordovician period
[2] Devonian period
[3] Silurian

[4] Carboniferous

101. Which one of the following cells

et

maintain a current of water in

sponge ?

[1] Porocyte
[2] Myocyte
[3] Chromocyte
[4] Choanocyte

Read following statements and

choose the correct option :

A. Pyramid of number in grassland
ecosystem is upright.

B. Pyramid of number in tree

ecosystem is inverted.

C. Pyramid of biomass in tree

ecosystem is inverted.

D. Pyramid of biomass in aquatic
ecosystem is inverted.

Correct option is :
[1] Aand D

[2] A,Band C
[3] B,Cand D
[4] A,Band D



103. FHihlaiol LTI B ¢

[1] TSR & FHad &

[2] AR & STEX H

[3] Aerehr & fRfes  (gomdea)
Iiee 1

[4] TSR H

o & o=t & 9 & @ d9-a
aa 78 &7

[1] SA=ThIgERIA
[2] ST HieeE
[3] ISR

[4] FhEin A

BB WA § R $eX & aed
s 9 Mo @ @O 99 &9 9

fefeta & @ :
[1] Tepe Al (gred aRen) sm

[2] 9ETE d9XH &N
[3] freer fiRfem &

[4] wufes SifRege &R
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[A]

103. Conchology is the study of :

[1] Shell of Mollusca
[2] Mentle of Mollusca

[3] Suprapedal gland of Mollusca

[4] Mollusca

Which of the following is not true

about Virion ?
[1] Intracellular
[2] Extracellular
[3] Acellular

[4] Crystalizable

The union of sinus venosus with
right auricles in some cases in

mammals is marked externally by :

[1] Sulcus terminalis

[2] Sinus venarum

[3] Crista terminalis

[4] Appendix auricule



[A]

106.

fFr § @ B9-T1 ToTEH AIEermieean
& I faee 9X 9 S @ 7

[1] ®HEIT B ufie TaRe Sidw

[2] AR SRS
[3] B-SiferdISeN T=TEH
[4] dEge ey

g8 SUIRY Sifh X H fheaen &
I ARfsEd o (STams @
) FA @

[1] arigs
2] FriEs
[3] witwiifeq
[4] TReHTES

elgdl Swafilt T8 ooff & S 5 &
THY 9T Bd 2 oY oTN Sfiae-ahia
% el e g9 W ¥ uRafag & S

21 Slgdar # &I ¢
[1] ST T b
[2] FifeT e

[3] ST
EARGEIRE I S|
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106. Which of the following enzyme is

present on outer membrane of

mitochondria ?

[1] Carnitine fatty acid acyl

transferase
[2] Monoamine oxidase
[3] B-oxidation enzyme
[4] Citrate synthetase

The that the
laryngeal prominence during male

cartilage forms

adolescence is :
[1] Thyroid
[2] Cricoid
[3] Epiglottis
[4] Arytenoids

Protogynous hermaphrodites refer to
organisms that are born female and
some point in their life span change
to male.

protogyny is :

sex The example of

[1] Dwarf angle fish
[2] Clown fish
[3] Coeloplana

[4] Laevapex fuscus



109. O & T 9 B4 © ¢
[1] AT wayq SiéH 9§
[2] ARTT Tay WEEEE |
[3] ST we i d
[4] aEEi od Soe &

110. F1 QU T Ff H @A § HEWI/
TRH HHRN & T BTG IO

[
ol

A. BT offfRmfed way
R HEH STy

B. WEW T WY QN Sl

C. faehar #wEAmm waq R
SIKIEE

D. TSaieHal TUeBA T el
e

E. 7aRRed HE T@H  oodl
BT

% -

[1] A, C @Hq E
[2] A, B @ C
[3] C g E

[4] B waq D
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[A]
109. Nissel's granules are madeup of :
[1] DNA and Protein
[2] RNA and Ribosomes
[3] DNA and Cholesterol

[4] Thymine and DNA

110. With the help of codes given below

select the pair(s) of
spices/condiments :
A. Cinchona officinalis and

cinnamomum zeylanicum
B. Piper nigrum and Plantago ovata

C. Elettaria cardamomum  and

cinnamomum zeylanicum

D. Rauwolfia serpentina and

Plantago ovata

E. Myristica fragrans and Ferula

asafoetida
Codes :
[1] A, Cand E
[2] A,Band C
[3] Cand E

[4] Band D



[A]

111. H9-971 Ao fqaas & &9 § &M

[
ol

[
[

AT ?
[1] ST [2] it
[3] Hfew [4] Wi

PBR-322 Wfif FIMT dE® H X8
T B ©, ©

[1] T TRk JRRad wies
[2] TF go GRS A

3] & RERa TRiRE ()
[4] @ SUREfid arRa «ieHe

TE IR ST SRS o |
fhe T & IdRads & gy § ?

[1] wER gy SaRaa (%A Rie)
[2] @ SafRaaH (feaiiem)

[3] g SR

[4] sfafafy SaRad (Sxi®e)

LFFICEE & AR TR & (o9

& Ay e B ®
[1] 7%a & [2] gogH &
[3] &9 ¥ [4] ot ¥

Level-3/911
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111.

el
e

ot
ot

Which is use as fish bait ?

[1] Leech [2] Nereis

[3] Pheretima [4] Arenicola

PBR-322 used as vector for cloning

1S :

[1] A modified bacterial plasmid
[2] An original viral genome

[3] A modified transposon

[4] A modified viral plasmid

Sickle cell anaemia is the result of

which type of mutation in the

haemoglobin gene ?

[1] Frame shift mutation

[2] Deletion

[3] Point mutation

[4] Duplication

114. While migrating larva of Ascaris

takes place its 4th moult in :
[1] Liver [2] Lung

[3] Heart [4] Intestine



[33] [A]

115. = & ¥ PH-AT d< ERESSEE 115. Which one of the following is the

H ISiaes M © 7 systematic name for Lactate

dehydrogenase ?

[1] E.C.1.1.1.27 [1] E.C.1.1.1.27
2] E.C.1.1.1.1 2] E.C.1.1.1.1
[3] E.C.2.3.1.6 [3] E.C.2.3.1.6
[4] E.C.1.11.1.6 [4] E.C.1.11.1.6

116. CD8 HREHT fhg TX IuRed wfeemr 116. CDS cells recognize antigens present

F TEAM & 7 on :
[1] T [1] Interferon
[2] <IeHEECE [2] Plasmocytes
[3] BUCEETE [3] Hepatocytes
[4] sRerEEed [4] Erythrocytes
117. UUEHA 96 9T S & ¢ 117. Epidermal scales are present in :
[1] e =&l § [1] Scoliodon
[2] TEne H [2] Rabbit
3] Toueell | [3] Lizard
[4] de% H [4] Frog

Level-3/911 P.T.O.



[A]

UEEaE TRE ¥ URICRA ST T
(Acetyl CoA) &9 & aRH =1 & @
HIF-9T MATE & © 7

[1] ferdtgs vt

[2] TRFN TERmESE
[3] THIfeST

[4] To To Elo

A6 B /T & JAd FH Bl A
Ru U e H FeEd q I

A. IERE — WaE — Fhelr™

B. Ufalcies — dENREs: —
RIEINIEET

C. afmm -
HIATH

fegie -

%< -

[1] A T B
[2] e B
[3] @as C

[4] A Taq C

Level-3/911
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118.

Which one of the following is not
needed during formation of Acetyl

CoA from pyruvic acid ?

[1] Lipoic Acid

[2] Thiamine Pyrophosphate
[3] Aconitase

[4] N.A.D.

Select the incorrect sequence of
Geological periods/Era using the

codes given below :

A. Triassic - Jurassic —

Cretaceous

B. Paleozoic — Mesozoic —

Cenozoic

C. Devonian — Silurian —

Carboniferous
Codes :
[1] Aand B
[2] Only B
[3] Only C

[4] Aand C



120. R & e § HAC A @

[1] SHe] SR & (QEteE)
[2] TEEEl TR & (SHEE)
[3] Tee TR & (FHSIEE)
[4] Tehel TER & (TERmRiReE)

121, UERY] H §&T G Iga i

[1] S=9 |igdar 9 4 gisar & Sl
I B T

[2] SI9 & MU farell |, @l
H =g Gimar 9 ME giEar @
CIEERIEE |

[3] forail & QuRyd THAIRT | S
Bl THT

[4] STEUrerY fareell @ ST 1 T

122, @R GG P TR AEG e o

[1] 3-4 9T {id T
[2] 4-7 9T i T
[3] 5-8 9T e
[4] @& dffa & Bl ®

Level-3/911
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=
N

el
[

[A]
Skull in members of ratitiae is :
[1] Schizognathous type
[2] Desmognathous type
[3] Dromaeognathous type

[4] Aegithognathous type

Select the correct definition of

0OSMOSIS :

[1] Movement of water from higher

concentration to lower

concentration

[2] Movement of water from its
higher concentration to its lower
through

permeable membrane

concentration semi-

Movement

[3]

of water through

aquaporins present in membrane

Movement

[4]

of water through

semi-permeable membrane

122. The length of food chain is limited to :

[1] 3-4 trophic levels
[2] 4-7 trophic levels
[3] 5-8 trophic levels

[4] It is not limited



[A]

PCR # Y& DNA Ufciiist o< feean
S ®

[1] IfeE gRfmRE @

[2] THSFIRTH TgHHRE d
[3] g¥E THieHd |/

[4] PRSI |

TRAY S @ Siaw e
ETHA (BOD) 3 & & fow
T ST R

[1] TR HrEeh Gare & qEn
[2] ST STHT & q=T

[3] Sa-Frieig FEe geref @
=

[4] So-F=iwig wEEEe T@ &
9 HENE @ O &
GiEl]

AMEHI~AT § Ik I+ B ®

[1] &R &N

[2] < & &
[3] B BT UHER &R

[4] bk ETT

Level-3/911
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123.

The DNA polymerase used in PCR

is obtained from :

[1] Bacillus thuringiensis

[2] Agrobacterium tumefaciens

[3] Thermus aquaticus

[4] Methanogens

Biological Oxygen Demand (BOD)
of waste water is determined by

measuring the amount of :
[1] Total organic matter
[2] Oxygen consumption

[3] Biodegradable organic matter

[4] Ratio of Biodegradable organic

matter to the total organic matter

Vegetative propagation in Eichornia

takes place by :

[1] Offset

[2] Bulb

[3] Swollen leaf base

[4] Rhizome



126. (e & @ $-A1 GRS &9

T G S e 78 g 7

[1] T et

[2] ®R X
[3] At

[4] TMes Ed

F&l HAT H T PN :
[1] &% TF TEHE JO6RH & RraH

Bi< §9 gd, TUC gk & faegd
2 2l

[2] e Uh TRA § Rorad ofdd
go qaeEr w4 8 gl

[3] WEH Th TEMRT ofdd g o
JSEH BT B

[4] qUssh dhaa Th-foll g § Jod
JThH BT B

Level-3/911
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[A]

126. Which of the following is not an

example of genetically modified

organism ?

[1] Glo fish

[2] Flavr Savr

[3] Molly

[4] Golden Rice

Select the correct statement :

[1] Umbel is a cymose inflorescence

in which short flower stalks
spread from a  flattened
receptacle.

[2] Raceme is an inflorescence in

which sessile flowers are borne

basipetally.

[3] Spike 18 a racemose
inflorescence  having  sessile
flowers.

[4] Capitulum is an inflorescence

having only unisexual flowers.

P.T.O.



[A]

128. @ T4 GEX AR SR Siciear §

BN dRll Bl e g
g

[1] S TR &
PAREZSETE R
[3] BIECERH ERT
[4] BEHIEE SR

TEIRITS] TIEH JUErl ©

[1] BrER-SE-TRX T4 & faga &
fog

[2] EESNH T8 & foaes & fou

[3] N-qEHbes o & faaa
& fo@

[4] YuegE T4} & fagee & fou

T TR SURN el Uedl ud
SNl bl A Ol % MR W

UegT ST ¥, el §

[1] AFRTE
[2] s
[3] &R
[4] Ager

Level-3/911
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128.

Photomorphogenesis in response to

red and far red light is regulated by :

[1] Universal chlorophyll
[2] Cryptochrome

[3] Phytochrome

[4] Phycobilins

Endonuclease enzyme are

responsible for the cleavage of :

[1] Phospho-di-ester bonds

[2] Hydrogen bonds

[3] N-glycosidic linkage

[4] Peptide bonds

The taxonomical aid where plants
and animals are recognised based on
contrasting characteristics is known

as :
[1] Monograph
[2] Key

[3] Herbarium

[4] Manual



[39] [A]

13 G o i e e i £ | B = G o 131. The final acceptor of electrons in the

i~ Il e ® electron transport chain is :
[1] ATP U [1] ATPase
[2] SiferdisT [2] Oxygen
[3] RN [3] Plastoquinone
[4] €Ecmpm [4] Cytochrome C
132, JHID B HHB TN H G SINER 132. Select the correct order of serial
T P - stages of Lithosere :
[1] €9 & — T 9/F — g9 — 99 [1] Stone wort — Peat moss —
Shrubs — Trees
2] 9 319 > 9% — ®&F a9 — [2] Peat moss — Herbs — Stone
qiq worts — Moss
[3] | A — TUEE A — [3] Foliose Lichens — Crustose
dic |41\ — gy Lichens — Peat moss — Shrubs
[4] Tddg Jam — uifd A — [4] Crustose Lichens — Foliose
M — [aAH AT Lichens — Herbs — Scrub stage

133. GYRONY e W ARgw e 133. The World Summit on sustainable

A H T o development was held at :
[1] et | [1] Johannesburg

[2] e ¥ [2] Kyoto

3] R@-g-o= H [3] Rio-de-Janeiro

[4] YR H [4] Copenhagen

Level-3/911 P.T.O.
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134.

[
(52}

IRy S| §, PAR @89 2
[1] BeRFAfeR ke WeTIH &

[2] Mefrfct tacas WU &
[3] HRIFAfeRd tfea Red &

[4] TegEX THAeH Redt=q &

e weMt W e #ifvie ik
A RU U R B weEd A @8
SR B T HIOT -
AR [A] TR H HIEH
ffr erguRer ekl 21
SR [R] : TSRS, RIS 9T
G B FEd
g gfeeifasl & 9fd
gt 8 &
%c -
[1] ATd R Al 99 &R R, A &l
el THT B
[2] Aud Rl 89 & gy R, A &
el TAHTT & B
[3] A¥d & fbg R o6 @

[4] A STHd & fg R 8

Freifafaa & @ @F-@1 Ja Sian
Tggre  RefwT w S
& = ?

[1] Sispar
[3] FHEiieaq

[2] FTaT
CYRESKER

Level-3/911
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134. In plant world, PAR is the
abbreviation for :
[1] Photosynthetically Active

Radiation
[2] Productivity Activation Radiation

[3] Photosynthetically Active

Response

[4] Producer Activation Response

Consider the following statements
and choose the correct answer using
the codes given below :

Assertion [A] : Mycoplasma lacks a
cell wall.

Reason [R]: Mycoplasma
resistant to antibiotics
that target cell wall

synthesis.

are

Codes :

[1] Both A and R are true but R is
the correct explanation of A

[2] Both A and R are true but R is
not the correct explanation of A

[3] A is true but R is false
[4] A is false but R is true

Which of the following is not a free
living nitrogen fixing bacteria ?

[1] Frankia [2] Klebsiella

[3] Clostridium [4] Beijerinckia



131.

Frefafed ®ol (e A @
T R) W @R #X @& I &

T HITT

ARHYT (A) : CNG & LPG 9 3f9®
GG AT ST B

S (R): LPG FHEN-gE-3edEs
Bedl & OIR IEE
TREATT Hied B

[1] A Td R &M @&l & IR R, A &l
el e Bl

[2] A @ R a4F &1 § g R, A
% HEl Al e B

[3] A & B fhg R & & 2
[4] A ®& T & Rg R @& &
PiaH-1 - HiAE-11 § GARTT BT

ud d U R # weEd g8
X B JIT B :

P - 1 PidH - 11
(A) STIPRER (i) wH
SICEECED

(B) f&fore
S =6

(C) faemferae
e =6

(D) TGRS
S 56

%c -

(A)
(iii)
@)
(iv)
(ii)

(i) Sfelifeit=r
(iii) FHEE

(iv) TeFeIIud

(B)
(i)

(iv)
(ii)
(iii)

©
@iv)
(ii)
(ii1)
@)

(D)
(ii)
(iii)
(i)

(iv)

[1]
(2]
[3]
[4]

Level-3/911
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[A]

137. Consider the following statements

(Assertion A and Reason R) and
select the correct answer :

Assertion (A) : CNG 1is considered
safer than LPG.

Reason (R) : LPG releases carbon-

di-oxide and s
difficult to disperse.

[1] Both A & R are correct and R is
the correct explanation of A.

[2] Both A and R are correct but R is
not the correct explanation of A.

[3] A is correct but R is not correct.
[4] A is not correct but R is correct.
Match Column-I with Column-II

and select the correct answer using
the codes given below :

Column - I Column - II
(A) Haplontic (i) Fucus
life cycle
(B) Diplontic (i) Polysiphonia
life cycle
(C) Diplohaplontic  (iii) Chlamydomonas
life cycle
(D) Triphasic (iv) Ectocarpus
life cycle
Codes :
A B © (@D
(11 G @ (iv) ()
2] @ (v) @) (i)
31 Gv) Gy @) (@)
[41 Gy G @) (iv)
P.T.O.
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139.

Geiforar i & o gl @

[1] &isfisT A () TS B (+)
[2] @St A () €isiis B (0)
[3] EsieT A (+) @iefis B (+)
[4] &isiST A (+) Thisli ST B (0)

I H HEE B OEE B
d@r 16 B B @S @ g
ferrSTISlicT ifRreeT § HeThol Sae &
9 fhdq DNA &1 &1 ?

[1] 8
[2] 16
[3] 32

[4] 64

TRl BRI ARG REOET B
IRT g gfveremratt § SfeiisH HHrsish
B B

[1] BRI
PARSEEKISIIER]
[3] TR
[4] BFTEs

Level-3/911
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139.

Commensalism can be represented

as :

[1] Species A (-) Species B (+)

[2] Species A (—) Species B (0)

[3] Species A (+) Species B (+)

[4] Species A (+) Species B (0)

The number of chromosomes in a
somatic cell of onion is 16. How
many DNA molecules are there in a
tip
metaphase stage of cell division ?

root cell of onion during

[1] 8
[2] 16
[3] 32

[4] 64

The oxygen scavenging in Frankia
induced root nodules for nitrogen
fixation, is carried out by :

[1] Heterocysts
[2] Leghaemoglobin
[3] Nitrogenase

[4] Hopanoids
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142. T SR % G d gd wE W 142. Select the correct statement in
TG BT reference to the pollen tube.
TR iR SERid B B Pollen tube exhibits :
[1] '{'{:ﬁﬂfﬁlﬁ T [1] Chemotactic movement
(2] '{'{:ﬁﬂﬂ?@ﬁ% iG] [2] Chemonastic movement
[3] '{'{:ﬁ@ﬂaﬁﬁ T [3] Chemotropic movement
[4] Wﬁﬁﬂﬂﬁ T [4] Thigmotropic movement

143. FefoRed § § M- Th e @ 143. Which of the following is not an

Nl & 77 attribute of a population ?
[1] ey foide [1] Age pyramid

[2] TisfieT er==afshan [2] Species interaction
[3] fefmrgar [3] Sex ratio

[4] ST X [4] Natality

144. ﬁa?.; IR ORe&ea Seaa # T 144. The Rivet Popper Hypothesis was

o : proposed by :

[1] 9t Rag T 9ioX TEo gRT [1] Paul Rivet and Popper H.

(2] tlﬂ'{'a?, METX Td QA=hier F [2] Farman, Gardiner and Shanklin
[3] To 3o UMY g [3] H.R. Popper

[4] Ui gefeta & [4] Paul Ehrlich

Level-3/911 P.T.O.
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145.

RUBISCO @ “‘Sfiedivmst”  foran
ST Il B -

[1] C; T
[2] C4 b
[3] CAM =sh
[4] C, T

1SS | EC | <L i = =7 i

SEHISRATA ¢
[1] T o S
(2] TSB! ® T
[3] WIS
EARGISI

Frfofad & & ®F-a1 SaeT gl |
Hellie TR S § 7

[1] SfR
[2] faf=

[3] Slo THo To

[4] Scgend

Level-3/911
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145.

The  'oxygenase'  activity  of

RUBISCO initiates :

[1] C;cycle

[2] C4 cycle

[3] CAM cycle

[4] C, cycle

Trichodesmium, the cause of redness

of Red sea is :

[1] An archae bacteria

[2] A Rhodophyceae member

[3] A Cyanobacter

[4] The Red mould

147. Which of the following is the most

abundant biomolecule on earth ?
[1] RUBISCO

[2] Lignin

[3] DNA

[4] Cellulose



148. FHRRed wFl W® R fifke o

A U U Rl B wEEd 8
X BT JIT B

FIT (A) :TE® B AN
ATHE FAD B UG
F9 Gaediad T PH
ST JoT Bl ol

TP EGIRE
SUTEl wE HRe
FC & @ oEarad
I Bl Bl

SR (R) :

%c -
[1] AU R & G99 & X R, A &
el TR &

[2] Aud Rl 89 & gy R, A &
el TFT e o

[3] A9 & fg R o8 &

[4] A8 & fg REA &

qredl # g aReed & d@ed § 7o
HYT B TIT BN

[1] 39 ofpm & foo QW Rreen
1 | M e R G | S o Y

[2] ¥ ‘SRARd’ URasT &l

[3] 29 uiskar § e dq< 8 S
B

[4] T8 SFAOMHAS YRRl B

Level-3/911

[A]

148. Consider the following statements

and choose the correct answer using

the codes given below :

Assertion (A) : Heartwood is less
susceptible to
fungus and contains

less moisture than

sapwood.

Reason (R):  Heartwood stores
secondary
metabolites and

have tylosis.

Codes :

[1] Both A and R are true and R is
the correct explanation of A

[2] Both A and R are true but R is
not the correct explanation of A

[3] A is true but R is false
[4] A is false but R is true

Select the incorrect statement

regarding facilitated transport in

plants :

[1] Special membrane proteins are
required for the process.

[2] Itis a downhill transport.

[3] In this process, the transport
saturates.

[4] Itis a non-selective process.

P.T.O.
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150. Hew-1I § U 7w Hafq & oG

CRIOEEY AU H Biaw-1 § faffds
3Th [EEHC TR B URRA |
AT HITT

HieH-1 Hie-11
(A) g9t yg@ar (1) 9:3:4
(B) omoEl ge@ar (i) 9:3:3: 1
(C) T S (i) 12:3:1
(D) i F==aie (iv)9: 7

T
%c -

A @B (© (D

(11 @G Gy  @[v) (i)
2]  Gi) @) Gv) ()
31 Gi) Gi) @@ (v)
4]  Gv) (@) @i Gi)

[46]

Match

ratios (Column-II) in progeny from

150. the expected phenotypic
dihybrid parents with the conditions

specified in Column-I :

Column-I Column-II
(A) Dominant i 9:3:4
epistasis
(B) Recessive (1) 9:3:3:1

epistasis

(C) Complementary (iii) 12:3:1

genes
(D) No interaction  (iv) 9:7
Codes :

A B © @D
(1 @ G av) (i)
2] @G @@  @Gv) (>
31 Gy Gi) @@  Gv)
4] Gv) @® @) (G

Level-3/911



% %4 & T (FOR ROUGH WORK)




R @& @
IR TF F RN GHEF B X 3§ O SR IR T H
Sl

6. Answers

to questions in answer sheet are to be
given by darkening complete circle using Black ball
point pen as shown below :

O @ ® ©®

The answer will be treated wrong;, if it is marked, as given

below :
O ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 3T OMR I TF T & ik H T II AFYIH

. 6 FE -G § 39 WM & [T @ T @l e W 8 # (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | IT oA o W o1 (ThE TYS) BTN
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. J% 99 & 0 RU U =R fowed § & S faecy & T OMR ST % W #ad 06 99 & & T 06 & a9 @R’e 0

¥ T TF IR IX Sifhd B B 9% 39 Sea Tel o Gl o (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

o=t gRfEa #X % 30 ST T B qYl T ¢ U6 S8 W HE AW MW T ) Tl iU STgHiE SuX T d
fraifa wm & sfafed o= 71 foreh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B ANGEF T B, Fis HE A Rk § (997-gRaw SR =% F FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

E[SFT-W/ET‘R' =% ¥ RU T wEie B Tl 9l ade 9 swnR 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR ol TeAN W & ofoRe Rl ser @ argg-aren, gd o st s & afr,
JoR, MeEA B, gasli-es SUBT A Rl oF UK & |l & S a1 IWM HIA @ A Tel 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

T B U8 TN W TaE ol SToAT WAy #E (A o) iR wgAM U R@MW| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

&% e AT THAEE B AT STFAN $ AT HiE TRl STUAT WM 7 Bi| (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T 2 T T sWER 9 W AR sERR R faer erwd) qlen g 8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e Y a1 ¥ A e f 3ER I T e e’ & R T HET &
A AT STCT OMR S O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W M @ ] [ Qe @@ Aen § & a0 A i @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa UReheth B SYANT afotd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F R & Y, TRl feRlE & & T ubk/Ren-fRw 7 98 & o e @ e @ Ry em W@ sgRa
et & o T & e S » e wd e @ &R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR TR =% Eﬁg AN ST I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE FO BN W, TRl F /A Bled § [ S T H-THAEE B oA A A1 AR A WY 39 9e-gRAH B A

S R R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)



	917-A.pdf
	ROUGH WORK2.pdf
	917-A_1-30.pdf
	917-A_31-45.pdf
	917-A_46-60.pdf
	917-A_61-90.pdf
	917-A_91-150.pdf
	ROUGH WORK1.pdf
	BACK COVER.pdf

